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QUESTION 1

You are asked to write an automation script using Python. When you execute the script, you notice that your code sends
an RpcTimeoutError error. 

In this scenario, what would be the reason for this error? 

A. The Python script was not able to connect to the Juniper device 

B. The Juniper device rejects the connection 

C. The Juniper device took too long to reply to the RPC call 

D. The RPC syntax is incorrect 

Correct Answer: C 

 

QUESTION 2

Which two processes does Junos automation use? (Choose two.) 

A. chassisd 

B. jsd 

C. dcd 

D. mgd 

Correct Answer: BD 

Reference: https://coggle.it/diagram/XW0atWn5-1ccZJer/t/junos-automation-stack 

 

QUESTION 3

Click the Exhibit button. 
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Referring to the exhibit, what will be two results of this playbook before saving it to a file? (Choose two.) 

A. to include everything but the system/services 

B. to retrieve the committed configuration 

C. to include only the system/services 

D. to retrieve the candidate configuration 

Correct Answer: BC 

 

QUESTION 4

What are two examples of XPath axes? (Choose two.) 

A. grandchild 

B. sibling 

C. parent 

D. grandparent 

Correct Answer: BC 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/concept/junos-script-automationxpath-
overview.html 

 

QUESTION 5

What is the default port for NETCONF connections over SSH? 
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A. 22 

B. 830 

C. 443 

D. 8080 

Correct Answer: A 

 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/reference/configuration-statement/ port-edit-
system-services-netconf.html#:~:text=The%20default%20SSH%20port%20(22,in%20the% 20login%20event%20script 
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